
J4 (mod 37)

blocks defect matrix

G : 1 1 15× 12
2 0 2993671 = χ4, ϕ4

3 = 2 0 2993672 = χ5, ϕ5

4 0 8877781 = χ6, ϕ6

5 = 4 0 8877782 = χ7, ϕ7

6 0 11871451 = χ9, ϕ9

7 = 6 0 11871452 = χ10, ϕ10

8 0 17768881 = χ11, ϕ11

9 0 34031491 = χ12, ϕ12

10 = 9 0 34031492 = χ13, ϕ13

11 0 42909271 = χ14, ϕ14

12 0 328971071 = χ17, ϕ17

13 = 12 0 328971072 = χ18, ϕ18

14 0 952881721 = χ21, ϕ21

15 0 2302797491 = χ22, ϕ24

16 0 3003648901 = χ25, ϕ25

17 0 3661591041 = χ26, ϕ26

18 0 3938775061 = χ27, ϕ27

19 0 3947652841 = χ28, ϕ28

20 0 4605594981 = χ29, ϕ29

21 0 4934566051 = χ30, ϕ30

22 0 6908392471 = χ31, ϕ31

23 0 7861274191 = χ32, ϕ32

24 0 7861274192 = χ33, ϕ33

25 0 7861274193 = χ34, ϕ34

26 0 7895305681 = χ35, ϕ35

27 0 8852578561 = χ36, ϕ36

28 0 8852578562 = χ37, ϕ37

29 0 10164071681 = χ38, ϕ39

30 0 10164071682 = χ39, ϕ40

31 0 10856045311 = χ40, ϕ42

32 0 10890076801 = χ41, ϕ43

33 0 11825189641 = χ42, ϕ44

34 0 11842958521 = χ45, ϕ45

35 0 14459426101 = χ46, ϕ46

36 0 14459426102 = χ47, ϕ47

37 0 14459426103 = χ48, ϕ48

38 0 15098637731 = χ49, ϕ49

39 0 15790611361 = χ50, ϕ50

40 0 18422379921 = χ51, ϕ51



blocks defect matrix

41 0 19037412791 = χ52, ϕ52

42 0 20011518451 = χ56, ϕ53

43 0 20011518452 = χ57, ϕ54

44 0 20011518453 = χ58, ϕ55

45 0 22678241281 = χ59, ϕ56

46 0 26929724801 = χ60, ϕ57

47 0 27274958481 = χ61, ϕ58

48 0 30548406571 = χ62, ϕ59

Block 1: ϕ1 ϕ2 ϕ3 ϕ8 ϕ15 ϕ16 ϕ19 ϕ20 ϕ22 ϕ23 ϕ38 ϕ41

11 = χ1 1 . . . . . . . . . . .
13331 = χ2 . 1 . . . . . . . . . .
13332 = χ3 . . 1 . . . . . . . . .

8891111 = χ8 . . . 1 . . . . . . . .
323073631 = χ15 . . . . 1 . . . . . . .
323073632 = χ16 . . . . . 1 . . . . . .
354111451 = χ19 1 . . . . . . 1 . . . .
354111452 = χ20 . . . 1 . . 1 . . . . .
2597750401 = χ23 . . . . . . . 1 . 1 . .
2597750402 = χ24 . . . . 1 1 1 . 1 . . .

11834067411 = χ43 . . . . . . . . . 1 1 .
11834067412 = χ44 . 1 1 . . . . . 1 . . 1
19818086401 = χ53 . . . . . . . . . . 1 1
19818086402 = χ54 . . . . . . . . . . 1 1
19818086403 = χ55 . . . . . . . . . . 1 1

ϕ1 = 11
ϕ2 = 13331
ϕ3 = 13332
ϕ8 = 8891111
ϕ15 = 323073631
ϕ16 = 323073632

ϕ19 = 345220341
ϕ20 = 354111441
ϕ22 = 1606382801
ϕ23 = 2243638961
ϕ38 = 9590428451
ϕ41 = 10227657951


